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Directions (1-5): Fferfea gaer § warar= e (?) % T U< 97 919 [T AT 0-

Q1.12, 7, 168, 504, 1260, 2520
(a) 96

(b) 59

(c)61

(d) 48

() =T & 1€ T
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Q2.15, 21, 32, 48, 69, ?
(a) 85

(b) 103

(c) 100

(d) 89

(e) 95
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Q3.4, 13, 17, ?, 30, 39

(a) 29

(b) 21

(c) 26

(d)19
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Q4.12, 7, 8, 13, 27, ?
()75

(b) 76

(c) 60

(d) 65

(e) TTH | &S el
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Q5.5, 6, 14, 45, ?, 925
(a) 184

(b) 243

(c) 234

(d) 232

(€) TH & FIE L
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Directions (6-10): R&fertera i & wyar=a =g () F &N 9T F47 ATATAT T 3T
3 :-

Q6. 29.9% of 440 + 39.9% of 480 = ?
(a) 284

(b) 294

(c) 304

(d) 314

(e) 324
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Q7.0.0004 + 0.0001 x 36.000009 =7
(a) 0.10

(b) 1.44

(c) 144

(d)14.4

(e) 1440
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Q8. 63.9872 x 9375.01 + 240.0034 = (?)?
(a) 2489

(b) 2500

(c) 50

(d) 45

(e) 150

L1Difficulty 2

QTagsApproximation



QCreatorDeepak Rohilla

Q9. 4968.0346 + 215.987 - 3726.112 + 206.868 =?
(a) 8

(b)5

(c)18

(d)11

(e) 15
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Q10.989.001 + 1.00982 x 76.792 =7
(a) 1000

(b) 1100

(c) 1067

(d)110

(e) 100
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Q11. 3T UTST A ¥ B (e UF & &l 20 =< § A€ Tahd gl A Fl FIAAHAT T B FT Frdersar
q STAITT 5: 4 Bl T 4 =& TAT ITSUT FIT & [ AT 74T 2, 6T B T &= f3ham 17 ofie v
I qTST C GTAT TAT| AT T A+ 9 & | doh ol AT ATAT g aF C ohel fohae 5 | & il 9Y
TR 2l

(a) 90/7 =eT

(b) 80/5 =T

(c) 180/11 =T

(d) 180/7 =

(e) 90/11 T
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Q12. FATAT T FAHTH AT, ATaT T FAdHTT 3 T 3 AT g1 4 9 T, FAAT T 3 FHT TRAT,
AT &1 A F T AT F T R GATT 6T TAHT A ST hiforg)
(@) 2 99
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Q13. . T 1o+t 7Tf¥re =g # ¥, =¥ F 3w 9% 20% [T 99 F 70% = @9 U T FLA
gl A% T8 3600 TIT T HIE T9d FLd &, AT ST Fof HITeh T T H &

(a) 10000

(b) 15000

(¢) 10500

(d) 12000

(e) =AY T FIE 'T@
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Q14. ‘BANKING’ 9Ts% % FUTT ohl fohalel STEIT-3TEIT Ikt & atedrd foham ST oarat 872
(a) 5040

(b) 2540

(c) 5080

(d) 2520

(€) TH & FIE L
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Q15.X, Y 3T Z % HeT 120 U0 =6 TaT¥ faaia o 1w 8, a1fh X T 999, Y % 99T 7 20 ®97
AT BT T Z % 99 & 20 U HF grl Y T I F47 872

(a) Rs. 40

(b) Rs. 30

(c) Rs. 25

(d) Rs. 20

(e) T% & #rE LT
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Solutions
S1. Ans.(d)
Sol.
12 48 168 504 1260 2520

| I I I I |

x4 x3.5 x3 x2.5 x2




S2. Ans.(e)

Sol.
15 21 32 48 69 95

| | I I I ]

+6 +11 +16 +21 +26
I | | | |
+5 +5 +5 +5

S3. Ans.(c)
Sol.

4

13 17 26 30 39
[ i 1 1 T i)
+9 +4 +9 +4 +9

S4. Ans.(e)

Sol.
x054+1, x14+1, x15+1, x2+1, x25+1
27 x 254+ 1 =685

S5. Ans.(a)
Sol.
X1+1, x2+2, x3+3, x4+4, X515

S6. Ans.(e)
Sol.
oy 30440 | 40480
7R G + o 132 + 192 ~ 324
S7. Ans.(c)
Sol.

?7=4 X 36 % 144

S8. Ans.(c)

Sol.

7?2 = 64 X 9375 + 240 = 2500
Or, 7 ® 50

S9. Ans.(b)
Sol.

?R23-18B=5

S10. Ans.(c)
Sol.



7R 989 + 78 = 1067

S11. Ans.(c)
Sol.

20x(5+4) 180

5 5
20x (5+4) 180

4 4

A can fill alone in = = 36 hours

= 45 hours

B can fill alone in =

According to question
4 v 9 +9 .
20 36 C
2 11

c 20
180

C = —hour
11

1

S12. Ans.(e)

Sol.
Let present age of Nita = x
So present age of Sunita = 3x
4 years hence
2(3x+4)=3(x+4)
6x +8=3x + 12

3x=4%4 X =-

4
Present age of Sunita = E ® 3 = 4 years.

S13. Ans. (b)
Sol.
Let total income be x.
B0x

After spend 20% on house rent the amount left = S

7094 of rest on household expenditure
According to question

B0 wxx 22 = 3600

100

x =—200 + 10000 = Rs. 15000
B0x=30

S14. Ans.(d)

Sol.

Required number of ways = ; (since, N is repeated twice)

= 2520



S15. Ans.(d)

Sol.

X+Y+Z=120
X-Y=20,X=2-20

= (Y+20)+Y+(X+20)=120
=X+ 2Y =80

= (Y+20)+2Y=80

= 3Y =60

=% =20



